ML Meguro Language Center

JLPT N4 Kanji Quiz — 30/34 Answer
il 1 ZOR—b—=~U2 fEole FHIT AHTY,

(1) 1E-»7= 1 o7 2 <o 3 Otz ooy
(2) HH 1 BANL 2 BABL 3 BAMNSL B

(3) B4 1 }pHHu 2 WHW 3 9D SBLAA
B2 JRELT KFERT MimLET,

(1) JFHE 1 £2<9 2 x-5Z< 3 &< E1ANRS
(2) K=Pt L7V rH9nWA 2 BERKWA 3BBUEIWA Ay XAV
(3) bk 1 LT 2 Ruxrx 3 RAXIH ROAELED
13 DxrovaE SLBDIE 2oLV Td i,

(1) vxroHY 1 B 2 Bhet 3 FhEt Bt

(2) 2<% 1 5 2 g5 3 175 55

(3) 7=DLW 1 LW 2 FLW 3 BLW LN
M4 BT S0 FVEYIT TAAX VE LDELE,

(1) »IZ 1 i 2 3 I,

(2) S 1 % 2 R 3B A

(3) EAAZ L 1 §AZ IV 2 ERAX L 3 EkAZ L i AV
5 LIEN Bbolzb WWEEIZ boFo WXV,

(1) LZé& 1 £ 2 fbHE 3 L= -5

(2) Bbot- 1 #&io7- 2 f&bol- 3 Hiborz Hik oty
3) hHhHoEHT 1 BFoT 2 EFoT 3 EF-5C HEF-5T



